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QUESTION 1

Which LIBNAME statement is valid?

A. libname "c:\sas\labdata\";

B. libname mysasdata "c:\sas\labdata\";
C. libname work "c:\sas\labdata\";

D. libname sasdata "c:\sas\labdata\";

Correct Answer: D

QUESTION 2

Identify the data structure with the following characteristics:

?Contains one or more records per subject, per analysis parameter, and per analysis timepoint.

?May be derived from findings, events, interventions and special-purpose SDTM domains, or other ADaM datasets.
?A record can represent an observed, derived, or imputed value required for analysis.

A. General Data Structure (GDS)

B. Basic Data Structure (BDS)

C. Subject Level Analysis Data Set (ADSL)

D. Event Level Analysis Data Set (ADAE)

Correct Answer: B

QUESTION 3

Given the following data set WORK.DM:
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=ubject ge I3 race chp
oo1 24 n WH HA
ooz 53 F BL YES
oo3 36 F As i [
oo4q L M BL YES
o005 25 F WH TES
oos6 a0 F no Hi

Mete: chp = Child Bearing Potential

The following SAS program is submitted:

data _null_ B
=at WORK.DM :

if sex = "M and chp ne T"NAT then put "CHECH: " susject= sex= chp= ;
elze if mex = "F" and cop =g "NA™ then put "CHECK: " subjectc= aex= chp= ;

Lun ¢

Which subjects will appear in the LOG file?
A. 001 and 004
B. 001 and 006
C. 003 and 004
D. 004 and 006

Correct Answer: D

QUESTION 4

A SAS report procedure results in the log below.

13 proc report data=vicals
14 colunn patid visit hedight weight sysbp diabp 2
15 run.

NOTE: Hultiple concurrent threads will be used to summarize data.
NOTE: Thers wers 25 gbhsasrvations resd “rom the data set WORK.VITALS.
HOTE: At least one W.D format was too small for the nomber to be printed. The
decimal may be shifted by the "BEST" format.
NOTE: The PROCEDURE REFORT printed page 1.
NOTE: PROCEDTURE REPORT used [Total process time):
rzal time 0.01 seconds
cpu time 0.01 seconds

What should you add to the PROC REPORT to address the blue note in this log?
A. Use DEFINE statements with the WIDTH= option set large enough to print all values for each variable

B. Specify COLWIDTH= option with a value large enough to print all values in the data

A00-280 VCE Dumps | A00-280 Practice Test | AO0-280 Exam Questions 3/4


https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html
https://www.leads4pass.com/a00-280.html

https://lwww.leads4pass.com/a00-280.html

Leads4 Pass 2024 Latest leads4pass A00-280 PDF and VCE dumps Download

C. Use DEFINE statements where FLOW is specified for each numeric variable
D. Use a FORMAT statement with formats large enough to print all values for each numeric variable

Correct Answer: D

QUESTION 5

Given the following log entry:

47 data hratss :
48 merge dm hr
49 by zubjid :
50 run ;

INFD: The variable sexod on data set WORK.DM will be overwyritten by data set WORK.HR.
NOTE: There were 4 cbservations read from the data set WORKE.DH.
NOTE: There were 4 cbservations read from the dats set WORK.HER.
NOTE: The data =et WORK.HRATES has 4 observations and 4 variable=s.
NOTE: DATA scatement used (Total process cime):
real cime 0.06 seconds
epu time 0.01 seconds

Which SAS system option adds the blue highlighted lines to the log?
A. INFO

B. MSGLEVEL=I

C. INVALIDDATA=\VIWY

D. NOTES

Correct Answer: B
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